Iss No ‘ Modifi

ication ‘ Date ‘Sign

Model 5107-2 Swimming Pool Heat Exchanger

470 Overall

Pool Water
Inlet

Notes:

Boiler Water
Outlet

294 crs

Boiler Water

1.1 2"'NPT

190 crs

215

Mounting Feet And 4 off M8x12 Csk Screws Supplied Loose
with Assembly In Clear Bag.
Unit To Be Painted Swimming Pool Green.

1.1 2"NPT

Inlet

7 Mounting Holes

Pool Water

8~Socket Screws M8 x 35 Removal
Of These Will Enable The End Covers
And Tubestack To Be Removed.

80

74.5

Outlet

160 crs

190

ALL DIMENSIONS ARE IN MILLIMETRES

il

SEC Heat Exchangers
1-800-335-6650

DRAWN:

TITLE:

DATE:

13 01 2012

FG Swimming Pool

REDRAWN:

Heat Exchanger

DATE:

CHECKED:

DRG No:

| 4 |M8x12 Countersunk Screws 10 MS
5032-2 -] 2 |Mounting Feet 9 MS
3594 1 | Nameplate 8 Brass
14"BSP 915 2 | Drain Plug ’ Brass % Drawing No. Suffix To Indicate Tube
M8 x 35 8 | Socket Screws 6 MS Material, C=Cupro Nickel, S=Stainless
0S52 2 | Seals 5 Nitrile Steel & T=Titanium Tube
FG7 4762 1 | End Cover Thermostat Pocket 4 NB
FG7 4800 1 | End Covers 3 NB Assembly No. | Tubestack Part
SEE|TABLE 1 | Tubestack FG100 2 * FG100-5107-2C | 5090-2TN2P
FG10 4780-2 1 | Body FG100 1 Cl FG100-5107-2S | 5097-2STP
Part No. DRG. No. Qty Description Item Material FG100-5107-2T 5097-2TIP

SCALE:

5107-2 *

11

SEC Heat Exchangers 2546 lona Road Belfast PEI COA 1A0 t.902.659.2424 £.902.659.2800 info@secheatexchangers.com




